	Team USA - Dra	att Budget 202	1			
		hes:				
		ry Rep:				
	Team L					
	Riva del Ga					
rrive:	6/23/2021		Regatta Dates:	6/30-7/10/21		
	7/10/2021		Regalla Dales.	0/30-7/10/21		
epart: coaches			\$/Euro:	0.83		
	1		\$/Euro:	0.83		
eam Leader/Country Rep (paid coach)	1					
eam Leader/Country Rep (parent)	1					
competitors	5	no opposite se	ex requirement			
XPENSES	Accomodations &	Meals for regat	ta dates included	with Entry Fee		
	Competitors/	Entry Fee	Entry Fee			
legistration	Coach	Euros	USD	# of Days	Team USD	
ailors	5	800.00	\$964		\$4,819.28	See Note 1
coaches	1		\$1,024		. ,	See Note 1
eam Leader/Country Rep (paid coach)	1	850.00	\$1,024			See Note 1
eam Leader/Country Rep (parent)	1	850.00			\$1,024.10	
lotel Damage Deposit	6		\$181			Credit card at Check-in
harters						
Optis	5	450.00	\$542		\$2,710.84	
Opti Damage Deposit (in cash)	5		\$241		\$1,204.82	
coach Boat	0.5		\$1.566			Euro 1300/boat shared with another team
coach Boat Damage Deposit (in cash)	0.5	700.00	\$843			Euro 700/boat shared with another team
odon boat bamaye beposit (iii casii)	0.5	100.00	φ043		φ+∠1.09	(\$25 per day * .5 boats, as 1 boat shared
coach Boat Fuel	0.5		\$25	11	\$137.50	w/another country on official days)
arly Arrival						
opti Charters	5	40.00	\$48	6	\$1,445.78	6/24-6/29
eamage Deposit (in cash)	5	200.00	\$241		\$1,204.82	
coach Boats	0.5		\$157	6		220 euro/day/boat
Damage Deposit (in cash)	0.5		\$843	J		Euro 700/boat shared with another team
coach Boats Fuel	0.5		\$25	6	\$75.00	
ccomodations	8	50.00	\$60	7		includes breakfast
feals	8		\$25	7	\$1,400.00	
Coach Expenses						
Coach Fees	1		\$500	17	\$8 500 00	Includes 2 travel days at 50% of coaching fe
eam Leader/Country Rep Fees	1		\$400	17		Includes 2 travel days at 50% of coaching fe
irfare	2		\$1,000	17	\$2,000.00	, ,
				47		
ood/Expenses	2		\$25	17	\$850.00	
ackground Checks	2		\$25		50	
liscelleaneous						
ransportation	8					(round trip)
nsurance	6	10.00	\$12		\$72	
Vire Fees	1		\$140		\$140	
currency Exchange	1		\$100		\$100	
Iniforms	8		\$150		\$1,200	
tickers	5		\$20		\$100	
nternational Travel Fund	5		\$100		\$500	
xtra/Contingency	5		\$500		\$2,500	
nacks/Water	7		\$100		\$700	
ubtotal					\$47,004.31	
Slubspot Processing Fees	5		20		\$100	
Slubspot Waiver Fees	5		1		\$5	
credit Card Fees	3.50%				\$1,645.15	
otal	3.50%				\$48,754.46	
Otal					ψ10,704.40	
er Sailor Cost					\$9,750.89	
			Estimated Regis		\$9,800	
	All budgets are es	stimates and s	ubject to change	as informatio	n is posted.	
lote 1: Registration Fee includes accom-	odation and meals fr	om 1400 on Ju	ne 30 (first meal o	linner) to 1100	on July 10 (las	st meal breakfast)
Vebsite: www.optiworld.org for the NOR amilies and coaches should email the Ir		ee Chair usod	ainternational com	mittee@amail a	om regarding	travel arrangements
arrines and coaches should email the fr	nemanonal Committee	ce Unail, usuud	annemanullalcolli	mucewulliall.0	om. redatuillu	uavei diidilueliieliis

	Team USA	- Draft Budge	et 2021			
		Coaches:				
		ountry Rep:				
		eam Leader:				
	El Puerto de Sa	anta Maria (Ca	diz), SPAIN			
				a.a.a		
Arrive:	6/17/2021		Regatta Dates:	6/20-6/27/2021		
Depart:	6/27/2021					
Coaches	1		Euro/\$	0.83		
eam Leader/Country Rep						
paid coach)	1					
eam Leader/Country Rep	0					
. ,		(min 1 of anno	site say nor NOI	2)		
Competitors	4	(IIIII I oi oppo	site sex per NOF	ζ)		
-VPENOES				= =		
EXPENSES	Accomodations & I	Meals for regat	ta dates included	with Entry Fee		
	Competitors/	Entry Eco	Entry Eco			
Registration	Competitors/ Coach	Entry Fee Euros	Entry Fee USD	# of Days	Team USD	
Sailors	Coach 4	550.00	\$663	# OI Days		See Note 1
Coaches	1	650.00				See Note 1
Feam Leader/Country Rep	1	00.00	\$783		₽/63.T3	SEE NOTE 1
paid coach)	1	650.00	\$783		\$783.13	See Note 1
Feam Leader/Country Rep	'	550.00	ψίου		ψ, σσ. ισ	
parent)	0		\$0		\$0.00	
Hotel Damage Deposit	17	100.00	\$120			TBD in NoR; Credit Card at Check-in
J,		22.30	Ţ. 20		. ,	
Charters						
Optis	4	400.00	\$482		\$1,927.71	
Opti Damage Deposit	4	100.00	\$120		\$481.93	Cash
Coach Boat	0.5	1,600.00	\$1,928			1600 euros/boat or 800 euros/coach
JUGUII DUGL	0.5	1,000.00	φ1,928		φ υ υυ.ου	cash(\$500 per boat/\$250 per coach - 1 boa
Coach Boat Damage Deposit	0.5	500.00	\$602		\$301.20	shares w/another country)
	0.0	230.00	ΨΟΟΣ		Ç001.20	(\$25 per day - 1.5 boats, as 1 boat shared
Coach Boat Fuel	0.5		\$25	8	\$100.00	w/another country on official days)
			,	_		
arly Arrival						
Opti Charters	4	50.00	\$60	2	\$481.93	
Damage Deposit	4	100.00	\$120		\$481.93	Cash
Coach Boats	0.5	220.00	\$265	2		220 euro/day/boat
	0.5	_20.00	ΨΣΟΟ		Ψ200.00	Cash (\$500 per boat/\$250 per coach - 1 bo
Damage Deposit	0.5	500.00	\$602		\$301.20	shares w/another country)
Coach Boats Fuel	0.5		\$25	2	\$25.00	,
Accomodations	6	40.00	\$48	3		does not include meals
Meals	6	.5.50	\$35	3	\$630.00	
			744	-	*********	
Coach Expenses						
						Includes 2 travel days at 50% of coaching fe
Coach Fees	1		\$500	10	\$5,000.00	(6/17 and 6/27)
Feam Leader/Country Rep						Includes 2 travel days at 50% of coaching fe
ees	1		\$400	10	\$4,000.00	(6/17 and 6/27)
Airfare	2		\$1,000		\$2,000.00	
Food/Expenses	2		\$35	10	\$700.00	
Background Checks	2		25	1	\$50.00	
Miscelleaneous						
ransportation	6	40.00	\$48		\$289	(round trip)
nsurance	5	\$10.00			\$60	,,
Vire Fees	1	,	\$140		\$140	
Currency Exchange	1		\$100		\$100	
Jniforms	6		\$150		\$900	
Stickers	4		\$130		\$80	
nternational Travel Fund	4		\$100		\$400	
Extra/Contingency	4		\$500		\$2,000	
Snacks/Water	6				\$2,000	
	ь		\$100	-		
Subtotal					\$29,411.75	
Clubspot Processing Fees	4		20		\$80	
Clubspot Waiver Fees	4		1		\$4	
Credit Card Fees	3.50%				\$1,029.41	
otal					\$30,525.16	
Per Sailor Cost					\$7,631.29	
			Estimated Reg		\$7,650	
	All budgets are es	stimates and s	ubject to chang	e as information	is posted.	
Note 1: Registration Fee includ	les accomodation an	d meals from 1	400 on June 20	(first meal dinner)	to 1100 on Ju	ne 27 (last meal breakfast)
Vebsite: www.optiworld.org for						regarding travel arrangements

2/11/2021 18:54:03

Arrive: Depart: Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES Accepted	Team USA - Pre Coac Countr Team L o Vallarta, Rivie 5/26/2021 6/5/2021 3 1 1 24	y Rep: eader: era Nayarit, MEXI	CO Regatta Dates: d by IODA e sex per NOR)	5/29/21-6/5/21 /ith Entry Fee	Team USD \$20,400.00 \$2,550.00	See Note 1
Arrive: Depart: Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES AC Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	Countr Team L o Vallarta, Rivie 5/26/2021 6/5/2021 3 1 1 24 Accomodations & Competitors/ Coach 24 3 1 17 24 1,5 1,5	y Rep: eader: ora Nayarit, MEXI 5th adult approve (min 7 of opposite & Meals for regatta Entry Fee USD \$850 \$850 \$850 \$850 \$850 \$850 \$850 \$850	Regatta Dates: d by IODA e sex per NOR)		\$20,400.00	See Note 1
Arrive: Depart: Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES AC Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	Team L o Vallarta, Rivie 5/26/2021 6/5/2021 3 1 1 24 Accomodations & Competitors/Coach 24 3 1 17 24 1.5 1.5	Sth adult approve (min 7 of opposite USD \$850 \$850 \$850 \$100	Regatta Dates: d by IODA e sex per NOR)		\$20,400.00	See Note 1
Arrive: Depart: Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES AC Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	5/26/2021 6/5/26/2021 6/5/2021 3 1 24 Accomodations 8 Competitors/Coach 24 3 1 17 24 24 1.5 1.5	5th adult approve (min 7 of opposite & Meals for regatta USD \$850 \$850 \$850 \$100	Regatta Dates: d by IODA e sex per NOR)		\$20,400.00	See Note 1
Depart: Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES Ac Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	6/5/2021 3 1 1 24 Accomodations & Competitors/Coach 24 3 1 17 24 24 1.5 1.5	5th adult approve (min 7 of opposite & Meals for regatta Entry Fee USD \$850 \$850 \$850 \$100	d by IODA sex per NOR) dates included w		\$20,400.00	See Note 1
Depart: Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES Ac Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	6/5/2021 3 1 1 24 Accomodations & Competitors/Coach 24 3 1 17 24 24 1.5 1.5	5th adult approve (min 7 of opposite & Meals for regatta Entry Fee USD \$850 \$850 \$850 \$100	d by IODA sex per NOR) dates included w		\$20,400.00	See Note 1
Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES Acc Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash) Coach Boats Coach Boats Damage Deposit (in cash)	3 1 24 Accomodations 8 Competitors/ Coach 24 3 1 1 17 24 24 24 1.5 1.5	(min 7 of opposite Meals for regatta Entry Fee USD \$850 \$850 \$850 \$850 \$100	e sex per NOR) dates included w	vith Entry Fee	\$20,400.00	See Note 1
Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Competitors EXPENSES ACC Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	1 1 24 Accomodations & Competitors/ Coach 24 3 1 1 17 24 24 1.5 1.5 1.5	(min 7 of opposite Meals for regatta Entry Fee USD \$850 \$850 \$850 \$850 \$100	e sex per NOR) dates included w	vith Entry Fee	\$20,400.00	See Note 1
Team Leader/Country Rep (parent) Competitors EXPENSES Acc Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	1 24 Accomodations & Competitors/Coach 24 3 1 17 17 24 24 1.5 1.5 1.5	(min 7 of opposite Meals for regatta Entry Fee USD \$850 \$850 \$850 \$850 \$100	e sex per NOR) dates included w	vith Entry Fee	\$20,400.00	See Note 1
Competitors EXPENSES Ac Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Optis Optis Optis Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Coach Boats Damage Deposit (in cash)	24 Accomodations & Competitors/ Coach 24 3 1 1 17 24 24 1.5 1.5 1.5	(min 7 of opposite Meals for regatta Entry Fee USD \$850 \$850 \$850 \$850 \$100	e sex per NOR) dates included w	vith Entry Fee	\$20,400.00	See Note 1
EXPENSES Acc Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	Competitors/ Coach 24 3 1 1 17 24 24 24 1.5 1.5	Entry Fee USD \$850 \$850 \$850 \$100	dates included w	vith Entry Fee	\$20,400.00	See Note 1
Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boat Fuel	Competitors/ Coach 24 3 1 1 17 24 24 1.5 1.5	Entry Fee USD \$850 \$850 \$850 \$850 \$100		vith Entry Fee	\$20,400.00	See Note 1
Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Coach Boats Damage Deposit (in cash)	24 3 1 1 17 24 24 1.5 1.5	\$850 \$850 \$850 \$850 \$100 \$600	# of Days		\$20,400.00	See Note 1
Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Coach Boats Damage Deposit (in cash)	24 3 1 1 17 24 24 1.5 1.5	\$850 \$850 \$850 \$850 \$100 \$600	# of Days		\$20,400.00	See Note 1
Registration Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Coach Boats Damage Deposit (in cash)	24 3 1 1 17 24 24 1.5 1.5	\$850 \$850 \$850 \$850 \$100 \$600	# of Days		\$20,400.00	See Note 1
Sailors Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24 3 1 17 24 24 1.5 1.5	\$850 \$850 \$850 \$850 \$100	# of Days		\$20,400.00	See Note 1
Coaches Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	3 1 1 17 24 24 1.5 1.5	\$850 \$850 \$850 \$100				
Team Leader/Country Rep (paid coach) Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Coach Boats Damage Deposit (in cash)	1 17 24 24 1.5 1.5	\$850 \$850 \$100 \$600			φ2,330.00	
Team Leader/Country Rep (parent) Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	1 17 24 24 1.5 1.5	\$850 \$100 \$600			\$850.00	See Note 1
Hotel Damage Deposit (credit card at check-in) Charters Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24 24 1.5 1.5	\$100 \$600			\$850.00	
Charters Optis Optis Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24 24 1.5 1.5	\$600				(\$100 per room)
Optis Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24 1.5 1.5 1.5				, .,. 50.00	
Optis Optis Opti Damage Deposit (in cash) Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24 1.5 1.5 1.5					
Coach Boat Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	1.5 1.5	\$100			\$14,400.00	
Coach Boat Damage Deposit (in cash) Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	1.5 1.5				\$2,400.00	
Coach Boat Fuel Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	1.5	\$1,600				(\$1600 per boat/\$800 per coach - boats are shared)
Early Arrival Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)		\$500				(\$500 per boat/\$250 per coach - 1 boat shares w/another country)
Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24	\$25	7		\$262.50	(\$25 per day - 1.5 boats, as 1 boat shared w/another country on official days)
Opti Charters Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24					
Damage Deposit (in cash) Coach Boats Damage Deposit (in cash)	24		_			
Coach Boats Damage Deposit (in cash)		\$30	2		\$1,440.00	
Damage Deposit (in cash)	24	\$100			\$2,400.00	
	1.5	\$300 \$500	2			(\$300/boat/day or \$150/coach - boats are shared
	1.5 1.5	\$500 \$25	2		\$750.00	(\$500 per boat/\$250 per coach - 1 boat shares w/another country)
Accomodations	29	\$65	3			29 includes 5th adult
Meals	29	\$40	3		\$3,480.00	
modic		V. 0			ψο, του.σο	
Coach Expenses						
Coach Fees	3	\$500	10		\$15,000.00	Includes 2 travel days at 50% of coaching fee
Team Leader/Country Rep Fees	1	\$400	10		\$4,000.00	Includes 2 travel days at 50% of coaching fee
Airfare	4	\$1,000			\$4,000.00	
Food/Expenses	4	\$35	10		\$1,400.00	
Background Check	4	25	1		\$100.00	
Miscelleaneous		0.45			04.005	Constant Advis
Transportation	29 27	\$45 \$12				(round trip)
Insurance Wire Fees	1	\$140			\$324 \$140	
Currency Exchange	1	\$100			\$100	
Uniforms	29	\$150			\$4,350	
Stickers	24	\$20			\$480	
International Travel Fund	24	\$100			\$2,400	
Extra/Contingency	24	\$500			\$12,000	
Snacks/Water	28	\$100			\$2,800	
Subtotal					\$109,661.50	
Clubspot Processing Fees	24	20			\$480	
Clubspot Waiver Fees	24	1			\$24	
Credit Card Fees	3.50%				\$3,838.15	
Total					\$114,003.65	-
					_	
Per Sailor Cost					\$4,750.15	
			Fatima - 4 - 2 To 1			
	# boodest :		Estimated Regis		\$4,800	
All	ıı puagets are est	mates and subject t	o cnange as informa	ation is posted.		
Note 1:Registration Fee includes accomodation and i	meals from 140	00 on May 20 (firet	meal dinner) to 1	200 on June 5 /l-	ast meal break	fast)
Note 1.Registration Fee includes accomodation and i	i ilicais iloili 140	o on way 29 (mst	mear diffier) to 1	200 011 30116 3 (18	asi ilicai bi caki	ast)
Paradise Village Resort, Spa and Marina						
Paseo de los Cocteros #1						
Nuevo Vallarta, Natarit MEXICO						
Contact: Yadira Ramirez, +52 322 226 6747, yramire	rez@paradisevil	lagegroup.com				
Website: www.optiworld.org for the NOR						
Families and coaches should email the International						
NOTE: Costs incurred in excess of those noted above	ove are the resp	onsibility of the far	nilies. This include	es, without limitat	ion, hotel, mea	ls, coaching, charters, and transporation.
2/11/2021 18:54:03						

	Sport Vlaanderen Team USA - Pr Coachd					
	Belg	gium				
Arrive:	6/29/2021			Regatta Dates:	7/3-7/7/2021	
Depart:	7/8/2021					
Coaches	2		-:			
Competitors		(min 4 of oppo	osite gender)			
Team Leader	1 1 24	*0	-4£ -			
Euro	1.21	*Conversion r	ate as of Febru	ary 10, 2021		
EXPENSES	Budget does NOT I	nclude Housin	g or Meals			
	Budget is based on	2019 event - t	he 2021 NoR i	s not available ye	et	
	Competitors/			,, ,,		
Registration	Coach	Euro Amt	USD Amt	# of Days	Team USD	
Sailors Entry Fee	15				\$2,541.00	
Coaches	2		\$0		\$0.00	
Team Leader	1	0	\$0		\$0.00	
Charters						
15 Optis and 2 Coach Boats	15				\$14,250.00	
Coach Boat Fuel	2	25	\$30	8	\$484.00	(\$25 per day for 8 days)
Coach Expenses						
Fees	2		\$400	9	\$7,200.00	(two travel days at 50% fees
Airfare	2		\$1,600		\$3,200.00	
Food/Expenses	2		\$25	10	\$500.00	
Accomodation (rooms)	2	150	181.5	9	\$3,267.00	
Rental Car	1	500	605		\$605.00	
Miscelleaneous						
Wire Fees	1		\$140		\$140.00	
Coach Boat Flag Deposits (in cash)	2	20	\$24		\$48.40	
Currency Exchange	1		\$100		\$100.00	
Uniforms	18		\$150		\$2,700.00	
Stickers	15		\$20		\$300.00	
International Travel Fund	15		\$100		\$1,500.00	
Extra/Contingency	15		\$500		\$7,500.00	
Snacks/Water	17	100	\$121		\$2,057.00	
Subtotal					\$46,392.40	
Clubspot Fees and Waivers	15		\$21		\$315.00	
Credit Card Processing Fee	3.50%				\$1,623.73	
Total					\$48,331.13	
Per Sailor					\$3,222.08	
			Estimated Re	gistration Fee	\$3,250	
					7-7-20	
All budgets are estimates and subj	ect to change as inf	ormation is po	osted.			
Website:						

NOTE: Costs incurred in excess of thsoe noted above are the responsibility of the families. This includes, without limitation, hotel, meals, coaching,

charters, and transporation.

2/11/2021 18:54:03

		lationals reliminary Bu	daet 2021			
		nes: TBD				
Lough Derg	Yacht Club, Domine		o. Tipperary	/ - Ireland		
A	0/45/0004		D#- D-		0/40 00 0004	
Arrive:	8/15/2021		Regatta Da	tes:	8/19-22, 2021	
Depart:	8/23/2021					
Coaches	3			7 - 6		
Competitors		(15 seniors, 7	cadetis, min	7 of opposit	e gender)	
Team Leader	1 1 24	**************	-4 5-1	h	104	
Euro	1.21	*Conversion r	ate as of Fel	oruary 10, 20	121	
EXPENSES	Dudget dese NOT I					
EXPENSES	Budget does NOT I		•	boood on O	010 Iriah National	o 9 2010 British Nationals
	Notice of Race Is n	ot Pubisiled - E	sumates are	baseu on 2	U 19 IIISII IVALIONAI	s & 2019 British Nationals
	Competitors/					
Registration	Coach	Euro Amt	USD Amt		Team USD	
Sailors	22					Based on 2019 Irish Nationals
Coaches	3		\$0		\$0.00	
Team Leader	1		\$0		\$0.00	
Charters						
Optis	22	550	\$666		\$14,641.00	Based on 2019 Irish Nationals
Coach Boats	3					Based on 2019 Irish Nationals
Coach Boat Fuel	3			7		(\$25 per day for 9 days)
Coach Expenses						
ees	3		\$400	8	\$9,600,00	(travel two days at 50% fee)
Airfare	3		\$1,600		\$4,800.00	(traver two days at 50% lee)
Food/Expenses	3			9		
Accomodation (rooms)	3					
Rental Car	1				544.5	
/liscelleaneous		.00	00		011.0	
Vire Fees	1		\$140		\$140.00	
Currency Exchange	1		\$100		\$100.00	
Jniforms	26		\$150		\$3,900.00	
Stickers	22		\$20		\$440.00	
nternational Travel Fund	22		\$100		\$2,200.00	
Extra/Contingency	22		\$500		\$11,000.00	
Snacks/Water	25	100	\$121		\$3,025.00	
Subtotal					\$63,458.50	
Clubspot Processing/Waivers	22		21		\$462.00	
Credit Card Processing Fees	3.50%				\$2,221.05	
Total					\$66,141.55	
Per Sailor					\$3,006.43	
-		.				
		Estimated Re	gistration F	ee	\$3,050	

Website: www.optiworld.org for the NOR

Families and coaches should email the International Committee Chair, usodainternationalcommittee@gmail.com, regarding travel arrangements

NOTE: The Team Leader for this team is a volunteer. No benefits except \$150 at CRS Apparel for uniform.

NOTE: Costs incurred in excess of those noted above are the responsibility of the families. This includes, without limitation, hotel, meals, coaching, charters, and transporation. 2/11/2021 18:54:03

	Frenc	h Nationals				
	Team USA -	Preliminary E	Budget 2021			
	Coa	ches: TBD				
	Ve	nue: TBD				
Arrive:	TBD		Regatta Dates:	TBD		
Depart:	TBD					
Coaches	1					
Competitors	7	(girls only)				
Team Leader	1					
Euro	1.21	*Conversion r	ate as of Februar	y 10, 2021		
EXPENSES	Budget does NOT I			and on 2010 Iriah	Nationala	
	Notice of Nace is if	ot Fubisiled - E	_Stilliates are bas	eu on zo ia msi	i Nationais	
Dogiotrotion	Competitors/ Coach	Euro Amt	USD Amt	# of Days	Team USD	
Registration Sailors	7				\$1,651.65	
		195				
Coaches	1		\$0		\$0.00	
Team Leader	1		\$0		\$0.00	
Charters						
Optis	7	550	\$666		\$4,658.50	
Rib	1	420	\$508		\$508.20	
Coach Boat Fuel	1	-	\$25			(\$25 per day for 9 days)
Coach Expenses						
Fees	1		\$400	8	\$3,200.00	(travel two days at 50% fee)
Airfare	1		\$1,600		\$1,600.00	
Food/Expenses	1	25	\$30	9	\$272.25	
Accomodation (rooms)	1	150	181.5	9	\$1,633.50	
Rental Car	1	450	544.5		544.5	
Miscelleaneous						
Wire Fees	1		\$140		\$140.00	
Currency Exchange	1		\$100		\$100.00	
Uniforms	9		\$150		\$1,350.00	
Stickers	7		\$20		\$140.00	
International Travel Fund	7		\$100		\$700.00	
Extra/Contingency	7		\$500		\$3,500.00	
Snacks/Water	8				\$968.00	
Subtotal	0	100	Ψ121		\$21,141.60	
Clubspot Processing/Waivers	7		21		\$147.00	
Credit Card Processing Fees	3.50%		21		\$739.96	
Total	3.30 /0				\$22,028.56	
Per Sailor					\$3,146.94	
			Estimated Bosi	etration Foo	¢2 4E0	
			Estimated Regi	SU AUON FEE	\$3,150	
All budgets are estimates and	subject to change as	information	is posted.			
Website:						
Families and coaches should em	nail the International C	ommittee Chai	r, usodainternatio	nalcommittee@	gmail.com. red	garding travel arrangements
NOTE: The Team Leader for this						J 1 1 1 2 2 2 2 2 3 2 5 1 6 5
NOTE: Costs incurred in excess charters, and transporation.						nitation, hotel, meals, coachin
unanters, and transpoliation.						